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General Instructions:

e ligdsf
1) Read carefully and attempt all questions.

_Q/(J’.:Ulrfgulu.‘."‘/,c;u’:_l
2) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown
in the example given below.

VWIS & e Lot 26 LI JE 0 2 r
Example: Polio is caused by:
=+e";’£{=dt"
(a) bacteria L& (b) fungi o
@virus S s (d) algae ‘fl
3) Use black/blue ink for writing. Use of lead pencil is not allowed.

-‘auﬁio)(gl JJW!&&({.Q/JWI(J&}/&/J(& LAy

4) If more than one options are encircled in a question, no mark will be given.
Kbl A3 Wi S L ciamlie LIt IS

Total Marks: 48 Part-A (Multiple Choice Questions)

Total Time: 1 Hour 15 Minutes

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each
question carries 1.5 marks.

WAL Ly gt et 80 (B2)UF U o Uty
Q. No.1. Which of the following is a part of forebrain?

-:-rebrum g4 ?‘glrufy!{u.‘/,,}éu:d;‘yﬂ
(a) Pons 3y
(b) Medulla o
i
(c) Cerebrum i Thalamus 4%

(d) Cerebellum A4«

Hypothalamus
oy 7 | Foms i
¥ = Medulla vsie

Cerebellum # ¢ -~
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Q. No.2. Which one of the following options is NOT correct? ?‘gufy/;‘ﬂfdféu‘.'d)g/m

Voluntary action J" sl Involuntary action J" Solst
(@) | Reading t=% | Vomiting 1
() | Running t» | Heart beating sk
(©) | Breathing 4L | Clapping el
(d) | Eating (" | Blinking of eyes LETE AT

Q. No0.3. Which of the following techniques is used to remove stones from kidney?
S‘ﬁ;gl’ad/dbfflufilﬁ'd/.’:-cc)/ﬂdufcuf‘jj,yp

(a) Angiography 3 (b) Dialysis s
(c) Lithotripsy G4 (d) Transplant  &6ss
Q. No.4. Identify the given figure. -q/&t:ﬁ&ﬁ&fd;
(@) RNA T (b) DNA IS
(c) Gene B (d) Chromosome pron

Q. No.5. The diagram represents gametes P and Q fusing to give cell R which has 2n number of
chromosomes. Cell R then produces gametes S, T, U and V. Which option is correct for number
of chromosomes in P, Q, R and S?

u:SuerQrP-‘Lb'b:VulUrT‘Su“ﬁ'f R e 2009 porrs SR wmuéu’:mwf/ JQJ,nPu—‘:if I
P Q R S ?‘L:/J)cﬁfu' u:( “LL;UJJ /")’}"J/

@) 2n [2n | 2n | 2n

(b) |n n 2n | 2n C' . \/
(©) |n 2n | 2n | 2n ,/‘

d |n n 2n [ n O *“/ \

Q. No0.6. The part of bacterium cell used in genetic engineering is: (“:\‘

{ &fﬁ‘"‘-‘\\'t- Lo}rat’nd(f”‘luf_f f 1o 2 s e 2
=) e S\ Cell wall s
(@) cell wall Ji ' —DNA
(b) DNA DNA 2 ,(— —=“—Plasmid 1y
(c) plasmid dith P \ \\ 5
- b )f:"
(d) flagellum = /8 ) B

Q. No.7. The biotechnological product used for the treatment of AIDS is:
Sedner1ath SN2 Aol Lokl

(a) beta endorphin w#.st: (b) growth hormone w42+ (c) insulin e (d) interferon s 2 £
Q. No0.8. Which of the following is a disease spread by mosquito? :‘Ldjtg.dug;,/f;,utd)g;ﬂ
() Dengue o3 (b) Aids i (c) Cholera =z (d) Hepatitis uj'lt‘g;

Q. N0.9. In the greenhouse, which energy is absorbed to provide heat?
?‘48/ [ el 7 de S S S

(a) Hydal Ui (b) Solar  /» (c) Electrical &4 (d) Nuclear Ay

Q. N0.10. Railway tracks are corroded due to: :+Cf,€)/u4ﬁ,JJ1
(a) acid rain = UAdIE (b) greenhouse effect ¢¢,J§€uu5yqf
(c) ozone depletion Sy (d) global warming e B E

Q. No.11. Which of the following activities has harmful effects on the environment? ‘
sl et IS B L UAL S S e s o
(a) Recycling paper S (b) Riding a bicycle LSS E L
(c) Planting trees s (d) Deforestation u’f’ Y3
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Q. N0.12. Which of the following is NOT a chemical reaction? :+£fdwég4u:¢5a/;

(a) Burning Ll (b) Photosynthesis ﬁ'ﬂ{ 79
(c) Decomposition ¢4} (d) Evaporation ya

Q. No.13. Identify a balanced chemical equation from the following: :Lz/_,t?'vK:A;L»Jgujlfﬂggﬂdsg/p
(@ O2+N: —— > 2NO» (b) 20, 42N, — 2NO;
(c) 200+ N, — 2NO; (d) Oz +2N; — 2NO;

Q. No.14. Which of the following is an example of decomposition reaction?:‘gdt‘»Ju’fvd/J"-b;rd;‘gu’.'djsau
(@) ZnCO3 — ZnO + CO- (b) CaO + CO; — CaCOs
(c) Mg +Cl, —» MgCl, (d) HCI + KOH— KCI1+H20

Q. No.15. The colour of litmus in the solution of calcium hydroxide is: :‘ge'n..ﬁu.‘:u’)férmujﬂf:ﬂ?/
(@) yellow ke (b) red L
(c) blue I (d) pink d¥

Q. No.16. Which gas is produced when NaOH is heated with NH.CI?
e fnd e b S S LNH,CLNaOH
(@) NHs (b) H2 (c) Cl, (d) O,
Q. No.17. The unit used to measure pressure is:
el aerd Lo\ py
(a) Newton oy (b) Joule Jz (c) Pascal £\ (d) Ampere &
Q. No0.18. The diagram shows a glass block placed on a table. The area of block in contact with the table

is X and area of table surface is Y. The weight of block is P and the weight of table is Q.
What is the pressure exerted by block on the table?

u);K‘)-'i/;lq.Pu)JKJU;-‘LY,:}'/Kildlﬁul‘LXM‘Luﬁ&'l/jVLJiﬁé/gJL&-q.ﬂlf)brjgxugcJ&Kg‘ugufrlﬂb‘
S 2K e

(@) PIX GlaiS:’}‘iCk
(b) PIY -
(c) Q/X Table
(d) Q/Y
Q. No0.19. Pressure of gas in the container can be increased by: :r?”LLLw. ‘../,Ku'fufﬁ’(
() increasing the volume of container wLuzZK,'{f
(b) decreasing the temperature S 7 2
(c) decreasing the quantity of gas /| ﬂuﬁfd/uf
(d) increasing the quantity of gas e fal S, e
Q. N0.20. Which of the following is NOT a physical quantity? Z‘QEJIﬁ’gﬁ.f'L‘ﬂJ’}bA
a) Volume r# b) Mass Jl
(a) (
(c) Proton iy (d) Length  {u/

Q. No.21. The following figure shows a method of measuring diameter. What is the diameter of ball?
0123 456 7 8 9 { e o Wbl e ios

i I '

(@) 3.5¢cm v e
(b) 45cm Z /
(c) 5.0 cm 7 i Ball &
(d) 8.0 cm g —
7 __ Table x
Q. No.22. Density of water decreases when it is cooled from: :‘gb'lg.lﬁ,ﬁ;‘fu’lge‘gaﬂ(/u“’ifg{&g
(@) 4°Cto0°C F0°Ce4°C (b) 8°Cto4°C F4°C8°C
(c) 12°Ct0 8°C  £8°C12°C (d) 16°C to 12°C F12°C16°C
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Q. No.23. Which of the following is an example of application of expansion and contraction of solids?
?‘4& SISO L3515 l5 1 Leaufa itz
(a) Telephone oL (b) Bimetallic strip  zdoss
(c) Electric motor . (d) Thermometer v F
Q. No.24. Why one end of bridge is not fastened firmly to the bank of a river?
Sl st U e 5 g L LI

(a) Bridge contracts as the temperature decreases. v‘at'/"(“f,:a';nﬂ/ L7 20
(b) River expands as more water passes through it. _+CE{QJJLL/f zi&gug;
(c) River contracts as less water passes through it. et F e oS ndyt
(d) More money is needed to fasten both the ends. -‘Ltmt{u,:;uyé‘.iauga./ui»
Q. N0.25. The type of lens shown in the diagram is: e mee (O 2 AL IS

(a) double convex  EH U
(b) double concave £
(c) concavo convex JE/,{CK
(d) convexo concave ;;V T
Q. N0.26. The nature of image formed by concave lens is: e (et ISB 1L i e #E
(@) real & (b) inverted &
(c) larger (d) virtual Sz
Q. No0.27. The part of eye which acts like the aperture of camera and through which light enters the eye
is: e e G Pt FIG e 5L met S, 1 HPSegLe fr ks

(a) pupil (b)iris U7 (c) Iens 7 (d) retina ¢,
Q. No0.28. Which of the following things generates electricity?

= A -r'l_ = véd/&g/jthfcufJ);/y
(@) W <
(b) X Dry
(C) Y Call
() z .

Q. N0.29. What is the disadvantage of using burnmg coal as a source of energy to generate electricity?
S NIHE S b L LG E S i Sig¥

(a) Shifting of people LSS (b) Causes air pollution et ae b9 1t
(c) Releases harmful radiationst szt 62t % (d) Covers large areas ¢ /fJ/o;gJ

Q. N0.30. Which one of the following is an example of input device used with computer?
e SO LT ac bl S S e L 5000

(@) Monitor Al (b) Printer Fu
(c) Mouse Uil (d) Processor Sy
Q. No.31. Hubble telescope revolves around the earth at a height of: 9+36/§46Af6/ Lu‘:/’_;ﬁ‘fdf‘
(a) 300 km (b) 400 km (c) 500 km (d) 600 km
Q. N0.32. The instrument shown in the figure is: :+Jfﬂbﬂd‘}¢
s o light,
(@) refracting telescope 7?&;@? o |9| 2 eyepiece
(b) reflecting telescope B, 7 \§\anm o
(c) microscope ey // ~__\wéAy
(d) spectroscope oy I )
\\\\ J
Secondary mirror "\\\\ /
//V"/;:k’ -
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